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該当箇所 誤 正 

129ページ 

下から９、10行目 

＝２％＋1.8×（７％－３％） 

＝9.20％……① 

＝２％＋1.8×（７％－２％） 

＝11.00％……① 

130ページ 

上から５～８行目 

…＋（300億円÷600億円）×9.20％ 

＝1.401％＋4.6％＝6.001％ 

≒6.00％……② 

      正解 ①9.20％ ②6.00％ 

…＋（300億円÷600億円）×11.00％ 

＝1.401％＋5.50％＝6.901％ 

≒6.90％……② 

      正解 ①11.00％ ②6.90％ 

130ページ 

下から９、10行目 

＝２％＋1.9×（７％－３％） 

＝9.60％ 

＝２％＋1.9×（７％－２％） 

＝11.50％ 

130ページ 

下から８行目 

加重平均資本コスト＝（金融機関借入÷… 加重平均資本コスト＝（純有利子負債÷… 

130ページ 

下から４行目以下 

…＋（300億円÷660億円）×9.60％ 

＝1.59381…％＋4.3636％＝5.957446…％ 

≒5.96％ 

          正解 5.96％ 

…＋（300億円÷660億円）×11.50％ 

＝1.59381…％＋5.2272…％＝6.82109…％ 

≒6.82％ 

          正解 6.82％ 

131ページ 

４行目の表内部 

 

株主資本コスト 9.20％ 9.60％ 

加重平均資本コスト 6.00％ 5.96％ 

 

株主資本コスト 11.00％ 11.50％ 

加重平均資本コスト 6.90％ 6.82％ 

168ページ 

最終行 

＝128.2883…％＝128.29％（Ｅ） ＝128.2828…％＝128.28％（Ｅ） 

169ページ 

上から４行目 

Ｅ：128.29％ Ｆ＝… Ｅ：128.28％ Ｆ＝… 
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